Unit 3 webDICE Instructor sheet

Instructions to familiarize yourself (and your students) to the webDICE model. Text in red are things you should say to your students as you navigate the model. This material is not in their webDICE instructions. 

With a computer online and projecting, 
1. Go to webdice.rdcep.org and click the “Advanced Inputs” link.
2. Notice that there are three sets of tabs. 
a. Top left says “Standard,” Advanced,” and “Documentation.” We will not use the documentation. For this exercise, we will use the “Advanced” inputs tab. 
b. Below on the left, there are five tabs that say “Essential,” “Climate,” “Economy,” “Policy,” and “Customizable.” These are outputs of the model, and they are all plotted with time on the x-axis and a different variable plotted on the y-axis. Spend some time clicking through these tabs – these are all the different “outputs” that are created by the model.  In other words, these are the predictions that the model is capable of making about the future.
c. On the top right, there are two tabs: “Runs,” and “Parameters.” 
i. Runs: This tab shows you all of the runs that you have completed. The model automatically shows you the default model. Practice renaming the run and hiding the data. Point out the link that allows students to Download runs. Don’t download – the files are a little confusing to look at this initial stage.
ii. Parameters: This is where we go to change the “Inputs” to the model. 
1. In our simple equilibrium model, the inputs were emissivity (epsilon), albedo (alpha), and solar intensity (S0). The webDICE models has all those inputs (though they’re not listed on the website – the model interface we’re looking at doesn’t allow the user to change those values), plus MANY more. 
2. Spend a couple minutes pointing out some of the various options that exist for changing the model inputs. 
a. Start with the Policy tab that is open initially. Note that the students will not know anything about any of the policy options (yet), but it is still worth pointing out that there is a “Business as usual” option, and then there are a variety of different policy options that we could make to reduce GHG future emissions. 
b. A good, straightforward model input to pick out for discussion is “Economy”  “Max Population (billions),” which allows you to set the maximum world population. It is set to a default of 8.7, but you can change this number to be any number between 8.0 and 12.0. 
c. Important Point 1: These are INPUTS to the model. The model doesn’t predict them! You decide tell the model how many people you think can fit on the planet, not the other way around. This is an important aspect of models – they can only make predictions that are as good as the information that you give them. If you give a model unrealistic inputs, then it will make unreasonable predictions about the future.
d. Important Point 2: Changing the values of these model inputs tells us a lot about uncertainty in our predictions of the future. Varying the values of these inputs and noticing whether they have a big impact on the predictions that the model makes is a valuable tool that we’re going to use in the webDICE Assignment.
3. Find the equilibrium climate sensitivity parameter under “Climate.” It is currently set to 3.2C of warming for a doubling of CO2. Tell the students that in this exercise, they’ll be modifying the value of climate sensitivity between a low and a high value. This parameter is what we’re going to use to estimate the scientific uncertainty that exists in our predictions about future warming.
4. Navigate back to the policy tab, and select “optimized policy.” Don’t go into any details about what this means (we’ll discuss this in the coming weeks) – just tell them that this is what would happen if we made perfect policy choices. Select the orange “Run Model” button.
5. Now, there are two model runs with output to look at. The website navigates to the output screen by default. 
a. [bookmark: _GoBack]Click on the “Runs” tab to see that you could rename this run and download the data if you wanted to. Rename if you want.
b. Draw their attention to the plot of atmospheric temperature vs. year and point out the obvious difference between the two runs. 
c. Mouse over the graph to see the numeric values. For the year 2105, the default run has 3.80C of warming, and the Optimized Policy run has 1.94C of warming. Copy these two numbers into the data table for the webDICE assignment.
d. Stop and make this point: The decisions that we make now will determine whether we see ~2C of warming or ~4C of warming by the end of your students lives. 
6. Your students should now be familiar with basic operations of running the webDICE model and are ready to complete the webDICE assignment.
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